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Part - III
SiMlellwer / SCIENCE

(88 wppbd gywdle eyl / Tamil & English Version)

st yanay : 3.00 wafl Gpyod | 17.0L. 2023  [Qurgs wHuQuanse : 75
Time Allowed : 3.00 Hours | [ Maximum Marks : 75

Sifleyemrset - (1) Soass damssesn sluns ssl uHeaund edrarsn TaTusman
sfiurigge Qareatereyd. Sssuufeile GapWBUla N@DE
samstafluureriiLib o Langwrs Ogfeissayu.

2) Beow Sdeg sHUY ewlimar aygusHGL SigsECaTyHausnEw
vwetu(hgs GeuamBHib. UL BISET cuareush@E Queandd LiwLeTLIRSSaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

GPLY : Qaedemgsrer mrenE LGHsmas AsTaRTLE).
Note :  This question paper contains four parts.

Uu@$ - 1/ PART - I

Py : () Seoegy damss@sEn e welissen. 12x1=12
(i) GanBssuu_(Heter BrewE eden sl Wseyd gpyeL W eflenLulenen
Cprp0s05s GII OLean ellenGenanuin Gaiggy erpseyw.

Note : fi) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

[ $msinys / Tum over
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L 3 Qeanden e mUEumeswreng eLGuUIgD

(1) Gpidah

(@) fité@ )

(@) Cpideh wowwg afitss

(7) &f

Magnification of a convex lens is always :
(a) Positive )

(b) Negative

(c) Either positive (or) negative

(d) Zero

www. TrbTnpsc.com

_ wflyeLwg.

2. &pssan aps eleania Gaul o U smellar Heop eramaficr prenE Geppwd ?

(31) a gy (<) B flavgey

(8) v ey (") Byl yrer Aogey

In which of the following reaction, the mass number decreases by four of the

daughter nucleus ?

(a) o decay (b) P decay

(c) +v decay (d) neutron decay

3. ffler Qgmo epessy Hep

(2)2 8 (<) 16 & (@) 184

The gram molecular mass of water is :

(a 2g (b) 1l6g (c)

() 84

d 8g
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Epasam_euppieT eTg heudsenumen ?
(=) SHACLnen () Quenfen
(@) B () Syesapme
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

() Water (d) Alcohol

IUPAC Quufl@glenuy ogmanBsans Cerssliu@n rarLmbd Hleao
WerQerm_(H)

(1) e () uis 2 faw

(&) g () gpem

The secondary suffix used in. IUPAC nomenclature of an aldehyde is ... 151

(a)' -ol Co T b) -l acid

(c) -al . (_c.i)l -one

@meumpellsatien @gwid SINP&ET CETRTL ).

()3 () @) 2 (7) 5
The heart of amphibians possess chambers.

(a) 3 . (b)) 4 i C(e) 2 (d 5

[ sliys / Turn over
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T. &y 5Hé @ peoLQupEADS.

(1) usnuseafan

(<) ool CLrsnam  Mwrellen e Lampuwd

(@) upsGged giemen

() epwl GLrsnam flwmellen o L 1ypé seuey

Kreb's cycle takes place in

(a) chloroplast

(b) mitochondrial matrix

(c) stomata

(d) inner mitochondrial membrane
8. Q@ woar Husrasd sramuuBL G

(1) sair aflfigHenn (=) Qupapener ypenfl

(@) euer &m () seung end$edlwid |

Bipolar neurons are found in :

(a) retina of eye (b) cerebral cortex

(c) embryo (d) respiratory epithelium
9. ASaCGslulen eflanateured e (Heumeug)

(1) GavGumiger () Qamefliguim

(@) asGan () SermAGLrevGunigeT

Syngamy results in the formation of
(a) zoospores (b) conidia

(c) zygote (d) chlamydospores
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10. Qummsgs :

11.

(1) sri&Gamon (i)
(2) sniéGarmon
(3) urellgudwnr
(4)  urdGugwn
() ()-(ii), (2)-(iv), (3)-(ii), (4)-G)
(<) (1)-(iv), (2)-Gii), (3)-(1), (4)-(ii)
(&) ()-0), (2)-(ii), (3)-(iv), (4)-(ii)
() ()-Gv), (2)-(), (3)-(ii), (4)-(ii)
Match the following :

(1) Sarcoma (i)

(2) Carcinoma (i1)

(3) Polydipsia

(4) Polyphagia (iv)

(a) (1)-(), (2)-(iv), (3)-(i), (4)-(i)

(b)  (1)-@v), (2)-(idi), (3)-(), (4)-(ii)
() (1)-G), (2)-Gi1), (3)-({v), (4)-Gi)
(d) (1)-Gv), (2)-6), (3)-(id), (4)-(iii)

www. TrbTnpsc.com
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Sifsuugwrer Us

(i) sfsuugunear grewn
(iii) @evawruysda yDpICHTL
(iv) eulpp uppCpmL

Excessive hunger
Excessive thirst
(ili) Connective tissue cancer

Stomach cancer

g Hapsfufen smyamons 9:3 : 3 : 1 e (peurdlmg) ?

(=) Gfige

(@) snidend pamEss
9:3:3:1ratiois due to:
(a)

(c) Independent assortment

Segregation

(=) 6GNECs s0556
(7) @ORE saemw

(b) Crossing over

(d) Recessiveness

[ #mLiys / Turn over
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; ' JpasLGEHwe
12. aim @en graugeilud erengyd Gameme (p@en (pgpedled oiflp

(&) Qamymenn (c2) JW. gprra@UsH

(@) Qorenmé(® ymev () @HwGHT 4 i flev

The term Ethnobotany was coined by :

(a) Khorana (b) J.W. Harshberger

(c) Ronald Ross (d) Hugo de Vries

Gy : amabugib gy Hanésensd o
sL_Lmuwns edlen weflEsa.
Note : Answer any seven questions. Question No. 22 is Compulsory.

13. fleawb - UMTUNEELD. SIGET CUANSSHET WTENE ?

Define inertia. Give its classification.

14. auranb gen fo Howras Carampdpg ?

Why does the sky appear blue in colour ?

15. gm sGanfl - uamupsseD.

Define one Calorie.

16. s Cyr elfulen uwerunBsefier gGea@d Grarmymans smps.

Mention any two applications of Avogadro’s Law.
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20.
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D@L sremiiuBib gL (Heamell gacuamnliLsmen eT(HHs.

List out the parasitic adaptations in leech.

WDETDWIL LTHSTULNE meubHmés 2 Fobd o HULSEH wWrene ?

What are the structures involved in the protection of brain ?

Qen@ssliul Gerer LLgH A, B, C wHPID D fu UMSHISEDHET BIGHLMETLD
STemTeyLD.

Identify the parts A, B, C and D in the given figure.

wryd Qurdlliue - cuaTumGSayLD.

Define genetic engineering.

avl9eny_(® (SPRITE) ereanmmed eramme ?

What i1s Sprite ?

2 £ .8 fapauaew gn sHMussl Aurmerag sgssm GamamrelaGung
QauafillH QwEs YDHnenes saméssl [Hs.

Calculate the amount of energy released when a radioactive substance undergoes
fusion and results in a mass defect of 2 kg.

[ $muys / Turn over
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u@ﬂ-mll’ﬁnf'm

) . . . @ 32 -8@®
@iy aealugb o amsseso e wafl &0, eflenm eor o428

sl Lrmuwnrs e weafldsen.

Note: Answer any seven questions. Question No. 32 is Compulsory.
23. eesufan swarum el Pt Lafler @pamnbd 69F apewd B (el

Deduce the equation of force using Newton's Second Law of Motion.

24. AL Uuniee wHID FIFOUMT®a G@PUR(HSmET CaupuBHgS.

Differentiate the eye defects : Myopia and Hypermetropia.

25. (=) BOwned iflifeymged erempmed ereves ?

(=) @ erdQpmedlgse erenmmed erevrenm ?
(a) What do you understand by the term Ultrasonic Vibration ?

(b) What is meant by reflection of sound ?

26. () @rEssaMeu TATDIE) GTea ? T(HSHEST(H S(HE.
(=) smilrsHen gCagud @ram( LweTUTRSDET Salis.
(a) What is an amalgam ? Give an example.

(b) Mention any two uses of copper.

27. Casrulen gnienwwnése pepen eleTésEs.

Explain the mechanism of cleansing action of soap.
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28. (&) waMmDd greugnsaile sramiiLBL aperp amswna Hag CpnELyseer

30.

31I

32.

GHUGHs.

() peféGatsamsmu unde@n srraflse wieme ?

(a)
(b)

Name the three basic tissue systems in a flowering plant.

What are the factors affecting photosynthesis ?

Qressden uaflsamart) Ul igwief(5s.

Enumerate the functions of blood.

vkt Cslliy @wliyser cgaeurn flossy S vl sgwms Hslsss

Qewudlemen ?

How do rainwater harvesting structures recharge ground water ?

(1) SGenmen_ 11, gfCamen U1 upd BellT ydleusy) eremer ?

(=24) SH0CGerGambaer erammmed creven ? -

(a)

(b)

What do you understand by the term phenotype and genotype ?

What are allosomes ?

(<) 0.01 M HNO; genysaan pH &l sr1ais.

(=) 100 &. Bl 25 4. ses@IMWE s@THH RM sTsR sLTNEELLEADS.

(a)
(b)

eigan sar@unpelen Heap sgeaissmss snams.
Calculate the pH of 0.01 M solution of HNO,.

A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate

the mass percentage of solute.

[ Hwliys / Turn over
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u IV / PART - IV
o b, Ggeneuwinen @rusefiér LD

@!ﬂl:lq : mw eflennaa@na @b eflent wetlasa Ix7=21
ueTweyb
Note:  Answer all the questions. Draw diagrams wherever necessary.
3. () (i Oé Qautiu e — cuenyw QSHSEYLD .,
(S0 & $ v Benarmy QeuuGLOHIL

(i) Pasd wppbd GGrmAwd sehd o Cansgsaenel
snganons LWL RGSLIURG eer ?
(iii) @ Den o HE @enyp ereueungy e sngETRISDET L
SV
() (1) QplLee eTemmney eTemen ?

ngs1&ADG 7

: L. Py useflan
(i) NGESTH L O GTADTE GTemen ? DIGe @endlwerWrd LIS

Qeweaur@®semer eleufsseyw.
(a) (i) State Joule's Law of Heating.

(ii) An alloy of nickel and chromium is used as the heating element.
Why ?
(iii) How does a fuse wire protect electrical appliances ?

OR

(b) (i) What is a longitudinal wave ?
(ii) What is a nuclear reactor ? Explain its essential parts with their

functions.

34. (B) (i) SSWESLH T — UDTUDSSALD.
(ii) H,SO, -& e amer suflen #5eis Qewlmans &Tewrs.
(iii) FoD 2 Hghad CaiomsEns@LD, FIb e Hlgréls sy G&nmm&g;.s@m
Qe Cuwrer Caumur(Hser wreneu ?
SiVevg)
() (i) Ber wHmD Berm flwansamer GaupuBsgis.
(i) pOP@awuTssd elloan e aear ? THSHSETLH SHS.
(iii) ugeuflans Cetwhisaflen gCe@ID PN LRTUSONE Fais.
(a) (i) Define : Atomicity.

(ii) Calculate the percentage of sulphur in H,S0,.
In what way hygroscopic substances differ from deliquescent substances.

OR
(b) (i) Differentiate reversible and irreversible reaction.
(ii) What is neutralization reaction ? Give an example.
(iii) Give any three characteristics of homologous series.

(i)
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35. (@) (i) gssrafiid smeyprs safleows gran@w aprrGurer erg ?
(i) egymu@® apriCGuren e yEHano aprrGLTe CTeND BienP&sL-
u@&enpg ?
(iii) erorisdler uflemmos Camur@semer eflorsas.
SIVeVG)
() () ope Apnd 1y erém.qr. -eweu GO L @ hisefled Geul L1 LweTL(REDg) ?
ii) oofldr lCar ¥eow Qsfbs @rar® wssrEGsre soliyuif
uerssatlen Auwery eTpgs.
(i) yews Nusseien QUSSIHET LOHILD qsﬁ)e};uﬁlmmuﬂm Sw eflenereyser LHD
elarg@s.
(a) (i) Which hormone induces parthenocarpy in tomatoes ?
(11) Why is thyroid hormone referred as ‘personality hormone’ ?
(iii) Explain Lamarck’s theories of evolution.
OR
(b) (i) Which enzyme cuts DNA at specific sites ?
(i) Name two maize hybrids rich in amino-acid, lysine.

(iif) Explain smoking hazards and the harmful effects of tobacco.

-00o0-
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